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MATHS - XII 

 

1. The rel
n
 given by :  

R = {(1, 1), (2, 2), (3, 3), (1, 2), (2, 3)} in the set {1, 2, 3} is 

(a) symmetrical  

(b) reflexive  

(c) transitive  

(d) trival 

 

2. If A = {x ∈ z : O ≤ x ≤ 12} and R is the rel
n
 in A given by R = {(a, b) : a = b}. then, 

the set of all elements related to 1 is. 

(a) {1, 2} 

(b) {2, 3} 

(c) {1} 

(d) {2} 

 

3. f : x → γ is onto, if and only if 

(a) range of f = γ 

(b) range of f ≠ γ 

(c) range of f < γ 

(d) range of f ≥ γ 

 

4. The number of all one-one f 
n 
from set A = {1, 2, 3} to itself is. 

(a) 2 

(b) 6 



(c) 3 

(d) 1 

 

5. Let f, g and h be functions from R to R. Then, 

(a) (f + g) oh = fog + goh 

(b) (f + g) oh = foh + goh 

(c) (f.g) oh = (foh) + (goh) 

(d) (f.g) oh = (fog).(goh) 

 

6. If : R → R is given by f(x) = 3x - 5, f
-1

(x) is  

(a) 
1

3𝑥−5
 

(b) 
𝑥−5

3
 

(c) 
𝑥+5

3
 

(d) Not 

 

7. Let 𝑓: 𝑅 −  
3

5
 → 𝑅 be the defined by 𝑓 𝑥 =

3𝑥+2

5𝑥−3
. then 

(a)  𝑓−1 𝑥 = 𝑓(𝑥) 

(b) 𝑓−1 𝑥 = −𝑓(𝑥) 

(c)  𝑓𝑜𝑓  𝑥 = 𝑥 

(d) 2𝑓−1 𝑥 = 3𝑓(𝑥) 

 

8. Let 𝑓: 𝑅 → 𝑅 be defined by 𝑓 𝑥 =
1

𝑥
∀𝑥 ∈ 𝑅 then 𝑓(𝑥) is 

(a) one-one 

(b) onto 



(c) bijective 

(d) 𝑓𝑛𝑛𝑒 

 

9. If the binary operations * onZ is defined by  

a*b = a
2
 - b

2
 + ab + 4 

(a) 233 

(b) 33 

(c) 55 

(d) -55 

 

10. Suppose that the function f : R → R is defined by f(x) = 3x , f(x) is 

(a) one - one onto  

(b) many - one onto 

(c) one - one, but not onto 

(d) NONO (Neither one-one nor onto) 

 

11. If 𝑓 𝑥 =
1

𝑥−1
 and 𝑔 𝑥 =

𝑥−1

𝑥+1
, then the domain of  𝑓𝑜𝑔  𝑥  is - 

(a) {x ∈ R | x ≠ -1} 

(b) {x ∈ R | x ≠ 1} 

(c) {x ∈ R | x ≠ 1, -1} 

(d) {x ∈ R | x ≠ 0, 1-, 1} 

 

12. The inverse of the function 𝑦 =
2𝑥

1+2𝑥
 is 

(a) 𝑥 = log2
1

1−2𝑦
 

(b) 𝑥 = log2  1 −
1

𝑦
  



(c) 𝑥 = log2  
1

1−𝑦
  

(d) 𝑥 = log2  
1

1−𝑦
  

 

13. The value of sin 20° . sin 40° . sin 80° equals  

(a) 
 3

2
 

(b) 
 3

4
 

(c) 
 3

8
 

(d) 
1

8
 

 

14. tan
-1

2x + tan
-1

3x = π/4 is-  

(a) 1 

(b) 1/3 

(c) 1/2 

(d) 1/6 

 

15. If sin−1  
𝑥

5
 + 𝑐𝑜𝑠𝑒𝑐1  

5

4
 =

𝜋

2
, then the value of x is - 

(a) a 

(b) 3 

(c) 4 

(d) 5 

 

16. Then eqn tan
-1

x - cot
-1

x = tan
-1

 (1/ 3) has 

 (a) no solution 



(b) unique solution 

(c) infinite solution 

(d) two solutions 

 

17. If 𝐴 =  
∝ 𝛽
r ∝

  is such that A
2
 = I then 

(a) 1 + ∝2 + βr = 0  

(b) 1 - ∝2 + βr = 0 

(c) 1 - ∝2 - βr = 0 

(d) 1 + ∝2 + βr = 0 

 

18. If A is square matrix such that A2 = A, then (I + A)3 - 7A is equal to  

(a) A  

(b) I - A 

(c) I 

(d) 3A 

 

19. Value of  
3 8

−1 4
 =? 

(a) -28 

(b) 20 

(c) 28 

(d) - 13 

 

20. Area of triangle with vertices (x1, y1), (x2, y2) and (x3, y3) is 

(a) Δ =
1

2
  

𝑥1 𝑦1 1
𝑥2 𝑦2 1
𝑥3 𝑦3 1

  



(b) Δ =
1

2
  

𝑥1 𝑦1 1
𝑦1 𝑦2 1
𝑥3 𝑦3 1

  

(c) Δ = 0 

(d) Not 

 

21. The function 𝑓 𝑥 =   
1, 𝑖𝑓 𝑥 ≠ 0
2, 𝑖𝑓 𝑥 = 0

  is not continuous at 

(a) x = 0 

(b) x = 1 

(c) x = -1 

(d) Not 

 

22. If f(x) = | sin x |, then 

(a) f is everywhere differentiable 

(b) f is everywhere continuous but not differentiable at [x = xπ] , x ∈ z 

(c) f is everywhere continuous but not differentiable at x = (2n + 1) π/2, x ∈ z 

(d) Not https://www.upboardonline.com 

 

23. log𝑥→𝑜
sin 𝑥

𝑥
 = ? 

(a) 0 

(b) 1 

(c) -1 

(d) +1/2  

 

24. The condition f(x1) = f(x2) is  

(a) one-one 



(b) many-one 

(c) onto and into 

(d) Not 

 

25. f"(x) ≠ f'(x) is correct - 

(a) yes 

(b) no 

(c) f"(x) = f'(x) 

(d) f'(x) = - f"(x) 


